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SN 2SS
HM: DETAl 2AH5
=2l ME2E2 22 EA JIE (CHR: X 2)
SN BB BRI(E) - HIRAY - B Ot Gl HIRE2
Oz 24351 AIZ =X 1,000,000 1,000
ORI 2 AlLz2| Al Z3
2,000,000 2,000
207 S1IH | 18,000 18,000 0
01 A 18,000 18,000 0
OMR2 ZZTAl AFAY =7 29
18,000,000 * 14! 18,000
ZIZAID B RE 11,000 20,000 9,000
201 L2 11,000 20,000 9,000
01 AF222IHI 11,000 20,000 9,000
OBRRSX2RAE| 5o
100,00024x501x 122 6,000
O2ZEoM 24 5,000,000 *1 Al 5,000
S LA SH(SF2ZHLAL = X)) (X 171,820 175,238 A3,418
BHALRY)
201 L2 A 1,320 6,278 A4, 958
01 AFR22IHI 1,320 6,278 A4,958
O3 22 &AL 22IIE
10,0002 11Q1x12JH & 1,320
301 YB3 170,500 168,960 1,540
14 J|EI2 A2 170,500 168,960 1,540
O3 22N EA 228 A
500,000 112l 5,500
O3 2ZHEA 2ESX
60,0002%1121x2502 165,000
SRR EA STIHLXH 62,250 66,414 N4, 164
201 L2 2,000 7,000 5,000
01 AF222IHI 2,000 7,000 5,000
O] 2,000
023 2NN 2SHEE 2 =
1,500,000 1,500
02 2 ZHEAL A2AF TN P
500,000 500
301 YB3 60,250 59,414 836
11 BAFAHIXIRZ2 17,200 15,824 1,376
OS32AZHLEA A2AS S SAH(2
2l) 300,000 110123 6,600
SR LAL ABAS SIRREEAH(R
LK) 20,0002 %1101%123] 2,640
OSS2ZHEA E4D] L 24E AL &
A 120,00024%1121%33] 3,960
OS32AZHEA ARLS NS
2,000,00024%201%13] 4,000
14 J|EI2 A3 43,050 43,590 AB40
OS2 EA ERE0 NS
15,0004 1101x2502! 41,250
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SN 2FEED
M BHCAl B3
=2l ME2E2 22 EA JIE (CHR: X 2)
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
OR2AZHEN A24rs S|
15,0002 *x2Q1x60 1,800
NEZLAZTEEOI5| 2 10,000 10,000 0
308 XHXIHHISOIA 10,000 10,000
07 RXISHHRZIEES S 10,000 10,000
ONSRZL 2RSS 3/H]
10,000,0002! 10,000
AHHE AR R 202,000 185,000 17,000
201 YEHR | 5,000 20,000 A 15,000
01 AlR22H 5,000 20,000 A 15,000
O=Hl oY AR B22 M=
5,000,000 5,000
207 SAOHEH| 12,000 12,000
01 i 12,000 0 12,000
=X 2O0IH 24 89
12,000,000 12,000
307 QIZHOIX 150,000 150,000 0
04 BIRIBHAIAIIE X 150,000 150,000
QLA SN AHE Z A 150,000,000 150,000
308 RIXISHHISOIX 18,000 18,000
13 SISO A IEAI Y| 18,000 0 18,000
OMHESNAEZTH S2E(AEXSTHE
18,000,0002 18,000
401 Al&HIZ 2 CHH 17,000 15,000 2,000
01 Al& 17,000 15,000 2,000
OSHIZ JIBtAIE EXIBA
17,000,000 %14} 17,000
MEIR[ZABH B0 = 50,000 45,000 5,000
201 YE2 | 50,000 45,000 5,000
03 A2 50,000 45,000 5,000
OMZEI[ZLIY B =H|
50,000,000 50,000
ONAHY ZLbs OIS HIAEY 233,000 170,000 63,000
201 Ler2g| 205,000 170,000 35,000
01 AlR22H| 5,000 20,000 15,000
=W oH ARQ B2 M
5,000,000 5,000
03 A2 200,000 150,000 50,000
OONAHE ZLt= OS2 HIAEIY
200,000,000 200,000
207 AHE| 10,000 10,000
01 i 10,000 10,000
O=Hl OI0E 24 29
10,000, 0002 10,000
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SN 2SS
HM: DETAl 2AH5
Sl M22 2ZTAl D& (Chol: ®i2)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
308 XIXISHHISOIA 18,000 0 18,000
13 DI 2SO HEI B AR R{E AL 18,000 0 18,000
OONAHY ZlLt= GIEY HIAEIY S2(ME
ISTHE) 18,000,000& 18,000
SALGIEE 2245 XA 48,479 35,047 13,432
101 Q1244 28,479 25,047 3,432
M JIZH22ISES 28,479 25,047 3,432
OLAEE MESSHHE T2 29 28,479
0Ql21] 78,8802%121x219 17,275
0FX4g L oixteg
78,8802 1Q1x582 4,576
05228 78,88024%101x 1924 %250% 3,747
0=0I3 25,596,5602 %4 . 5% 1,152
0HE=2S 25,596, 560243 .545% 908
BIRYEE 907,39024%12.81% 17
01E=E 25,596,560 %1.75% 448
0MTHES 25,596,560 1% 2%6
201 L2 A 10,000 0 10,000
01 AFR22IHI 10,000 0 10,000
OYAZEE ME25HHE T2 292
s 7Y 10,000,000 10,000
307 2I2H0| & 10,000 10,000 0
02 QIFAAAIIE R 10,000 10,000
OLAEE SEEN At
10,000,000 10,000
CIL5tD Xtgstel s 1,293,420 1,179,120 114,300
[ 5,000
= 1,288,420
2EUSHSTO| MH 1,293,420 1,179,120 114,300
[ 5,000
= 1,288,420
AEOI0IK P EEEE 849,920 812,320 37,600
201 L2 172,420 798,920 626,500
01 AF222IHI 172,420 798,920 626,500
O] 170,500
o=etel B2 2%
20,000,000 * 14! 20,000
022 B8 A HF
25,000,000 %23] 50,000
0=2t0t 22t0! OFHIE
11,000,000 * 14! 11,000
ORARIN2UE 2EI= I L B8
15,000,0002*35 45,000
0220l EEIHE O|HIE ZHOXH BAat
9,0002%5000! 4,500
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SN 2SS
HI: [JA5HD XESE 2ZES
Pl ALELESO| MHH =N (Crel: Xl
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
022IHEH RS MA
10,000,0002 *4Z 40,000
OS2I (HZIPIE LR
8,0002%301%80A! 1,920
202 Ot 10,400 10,400 0
01 2LH0IH 10,400 10,400 0
OHOIPHELREZR
200,0002%301x 122 7,200
Outets|, E28AL, 39 S A
100,000 *201% 163 3,200
308 XXIEHRISOIA 667, 100 0 667,100
13 DI S0 HEH B AR R{EL A 667, 100 0 667,100
O=sg2N(d2E, A0|=21 8)
3,500,000 * 1074 A+ 10 350,000
OHA Qe 200, 0002*50CH* 112 110,000
OYsE:E 2 100,000, 0002 *2A! 200,000
ODnET2ENL ze|
7,100,000 %14l 7,100
ZEUELZ2 HH HIR 112,600 87,100 25,500
201 L2 A 112,600 87,100 25,500
01 AFR22IHI 110,000 84,500 25,500
OU=20{ 2ol XE M=
2,5002%4, 0005 10,000
O ZoHHX = M= 5002/%30, 000 15,000
OTRIMH 2= Iy
2,00024%7,0000H*3E 42,000
OcelZx H& 1,0002%7 5002 *2Z 15,000
OATe FI= 1,6002!5,0000H 8,000
OBVELS US=ES M
50021%10, 0005 5,000
Ofts zssgs J=
12,50024%1,200 15,000
02 222 2,600 2,600 0
OUUEEES S Yz QBRI
1,3002%2, 0000H 2,600
Z20PIE 2435 35,500 35,500
201 L2 7,500 7,500
01 AF222IHI 7,500 7,500 0
OBZLED D 220 S|
300,0004%53] 1,500
OHAMEHE 2ZAEMATNE 2K
6,000,000 6,000
202 Ot 10,000 10,000 0
04 23011 10,000 10,000 0
Otfel2zss
2,500,000 %201%23] 10,000
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SN RIS
M [YelD sl 2REL
Hel: 2FELESO MY =M CEEEN
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
Onaees 2222 72
3,600,000 43 14,400
0l Bt 2 o35l 25,000 44,000 A19,000
= 5,000
2 20,000
307 QI2H0| & 25,000 44,000 19,000
= 5,000
2 20,000
02 DIQFAANAI SR 25,000 44,000 19,000
OBLAN 8 & 085}
25,000,000 25,000
[ 5,000
2 20,000
ZETRONL ALY 7,455,443 5,794,642 1,660,801
2 5,584,000
= 607,400
= 55,000
2 1,209,043
SR BN LA 7,277,400 5,386,402 1,890,998
2 5,584,000
= 607,400
= 55,000
2 1,031,000
ZEINSAIS 2 16,400 15,400 1,000
201 LBr2 | 6,800 5,800 1,000
01 A2l 3,800 3,800 0
OASLEM L SIHE S THRY
60,0002 4= 240
OZIZNLAIY Q44| 100,0002/*103] 1,000
OS2 (HRIHLARSX)
8,0002 *401x80A! 2,560
02 22| 3,000 2,000 1,000
QAT 2ZTANLAIY Z22EH((FD),
S4,45) 3,000,000 14! 3,000
202 Oit| 9,600 9,600 0
NETRE 9,600 9,600
OZBNLAREZ
200, 0002401128 9,600
DETRONY ATFALY 10,000 229,000 219,000
401 AlEH LSO 10,000 30,000 A20,000
01 Al&H] 10,000 30,000 A20,000
OZRRAMNL ARAY SX (AFRSBHEE T}
3MA) 10,000,000 10,000
ZERTIRHY AISIHS AN 300,000 500,000 200,000
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SN 2ZNEW
BB BBTRHLA
Pl SslRIRNLA (chol m=)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
401 AIZHIZL S0 300,000 500,000 200,000
01 Al2HI 300,000 500,000 200,000
OUHRIAN BHIOIZ CHEHA ERE Z&A
S 300,000,000 300,000
B0HAE 2t HOQHMAIE ZEAISE 1,976,000 740,962 1,235,038
= 1,976,000
401 AIZHIZL S0 1,976,000 740,962 1,235,038
= 1,976,000
01 Al&H] 1,976,000 740,000 1,236,000
OZI0HLr 2t22H HOIOIMAIL RAALY
1,976,000,000& 1,976,000
= 1,976,000
SHSEO2t V-EE ARERYZE A 1,000,000 0 1,000,000
= 500,000
= 150,000
i 350,000
401 AIZHIZ 20| 1,000,000 0 1,000,000
= 500,000
& 150,000
i 350,000
01 Al2H| 1,000,000 0 1,000,000
OUEHR2E V-8 ABEYZE A
1,000,000, 000& 1,000,000
= 500,000
& 150,000
i 350,000
EAMUGE 2Tt FEAY 3,100,000 400,520 2,699,480
= 3,100,000
401 AIZHIZL S0 3,100,000 400,520 2,699,480
= 3,100,000
01 Al&H] 3,100,000 400,000 2,700,000
OEAINEE lZet ASAY
3,100,000,000& 3,100,000
= 3,100,000
CHEAF HB2Z HFAIS (HEAIY) 800,000 300,000 500,000
= 455,000
i 345,000
401 AIZHIZ 20| 800,000 300,000 500,000
& 455,000
i 345,000
01 Al2Hl 795,590 299,610 495,980
OUAAL HI=Z AZAI
795,590,000 795,590
& 455,000
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SN BRRED
I BT 2OHLAL
ol SR NEONEAY (cro): =2l
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
= 340,590
03 Al&SCHY| 4,410 390 4,020
OUHRAL HR2 SIFAN AL
700,000,00024+0.63% 4,410
OFEX O - 98 A8 HE% A2 20,000 0 20,000
2 8,000
= 2,400
2 9,600
401 ATEBIL 20| 20,000 0 20,000
2 8,000
= 2,400
2 9,600
01 Al 20,000 0 20,000
OOFHE QX - QIMAIL T4 X
20,000,00024%17H 4 20,000
2 8,000
= 2,400
2 9,600
LA E EXIA AX 2 AED ML ZA 55,000 0 55,000
x 55,000
401 ATEHIZ 20 55,000 0 55,000
x 55,000
01 Al 55,000 0 55,000
OLAIEHE EXA M & oED HEL|
SAt 55,000,000 55,000
= 55,000
XelaH 2B T e 178,043 388,240 ~210,197
NS Ty TSt 44,043 216,749 A172,706
201 L2 7,200 8,200 A1,000
01 AL 22l 7,200 8,200 A1,000
OASRE =4 Xz 7,200,000 7,200
308 XHXISHHISOIA 36,843 58,549 ~21,706
13 2| ZSHHEZ AE S| E AN 36,843 58,549 ~21,706
ORZIMRABRNL TS 2% 23
36,843,0002 36,843
B b NS 25,000 8,333 16,667
308 XIXISHHISO0IA 25,000 8,333 16,667
13 2| 2SO THEZ AE SIE AN 25,000 8,333 16,667
OXIBIARH S BZAZHL
25,000,0002 25,000
T2laH BRELS A 18,000 13,525 4,475
308 XHXISHHISOIA 18,000 13,525 4,475
13 2| ZSHHEZ ARSI E AN 18,000 13,525 4,475
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SN 2YRED
HE: 2R TRANLALY
el XA 22O LA g} CEEEN
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
BRI EEE N
18,000,0002! 18,000
NEIRSE V=] 30,000 30,000 0
308 AFXISHHISOIA 30,000 30,000
13 2|2 SOICHEH A E I ETAIH 30,000 30,000
OXI2laHY 2H2AE 28
30,000,000&! 30,000
ZE0I8 U BHOALY 22l 16,000 42,333 126,333
308 XEXISHHISOI& 16,000 42,333 126,333
13 2|2 SO CHEH A E I ELAFIH 16,000 42,333 126,333
OZ&8 2 SHOAIY 212
16,000,0002! 16,000
Xlelahsd2 SR A 45,000 0 45,000
403 XEXISHHISXH=01 & 45,000 0 45,000
02 2| ZSOICHEHXI2E A ETAIIYI 45,000 0 45,000
OXI2IAHSHIZ SXIZ2IAIY
45,000,000&! 45,000
AL ST 22 3,149,362 2,025,637 1,123,725
[ 650,000
= 2,499,362
ZTAE 25 L 2 3,149,362 2,025,637 1,123,725
[ 650,000
= 2,499,362
T NP 411,725 200,401 211,324
101 Q14| 21,065 49,321 N28,256
04 JIZHHIZ22 XS24 21,065 49,321 N28,256
O=HIfAH 22 21,065
0123 78,8802%201x1002 15,776
=5 78,8802 +201x202 3,156
0=2%= 18,931,000 4. 5% 852
0HLEE 18,931,00024+3.545% 672
0&3JI1RL2E 672,00024%12.81% 87
01E=ZS 18,931,000 %1.75% 332
0&HHEE 18,931,000 1% 190
201 LBHR2YH 21,860 22,280 A420
01 AF22t2it| 6,320 6,920 AB00
OS2I (AL AR ER)
8,00021%321%804] 1,920
OLet42H| 4,400
0AZALERY ADE 7
100,0002* 12 1,200
OZSHIDIMEN B, S AIOIEHE , IO AR}
N BESIEA A 7Y
60,0001 x45EtA 2,700
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2A:
T ZH -
o /e

chel:

SR
OF Ok O
> >

-~

x oo

= = - PSlE]
2N - ZH - HA(SH) - MRAY - BES Off koK 'oﬂ/TPOEH HwE2
OEM=IE SESEA 2z
250,000&*23] 500
02 2322 H| 15,540 15,360 180
O0IER2REX M| L 223
100,000 * 122 1,200
OHSHIDIMEISH M2 & =523
365,000%* 123 4,380
OZdsd oRrHE2xE dIIes
330,000&*12& 3,960
OZHS Z21E I3
500,000 * 122 6,000
202 o4t 8,800 8,800
01 =AY 8,800 8,800 0
OZZALE 243
200,000 +301x 122 7,200
OzZANEE 22l 100,000&#221+8& 1,600
401 Al2HIL 20| 350,000 110,000 240,000
01 Al&H] 350,000 110,000 240,000
OEMUEE 2ZAEX 2HD| & 23+
= JHIAM 20,000,0002 20,000
OO0ISREREX s & SHIJ] & =8+
= FHIArY 20,000,0002! 20,000
OZSHIDIMEHZSR SHID| & TS &
HIAFS 20,000,0002! 20,000
OZDHADIZILITID =318 24 & &HF
HIAKS 20,000,000 20,000
OZEAMIL L sH=2ME2 DMIHE ZAL
50,000, 000& 50,000
OZZANEE A2 FAE+AY
200,000, 000& 200,000
OZZANLEE HNEE ES
20,000, 000& 20,000
405 KHAHE S| 10,000 10,000 0
01 AL =SS FHSHI 10,000 10,000 0
OB 2AZME 2928 22
10,000,000& 10,000
X DA 2| 2Y 905,500 787,700 117,800
201 22| 35,500 37,700 22,200
01 At22teld| 7,060 17,060 210,000
OEAEUXIJAME S22 Sl
200,000+ 123 2,400
OZMHAELRNZEH S| HIIF3E ==
= 200,00024%13] 200
OZAESXIRANME A28 2
100,000&x12& 1,200
OYE=HEAER SSoHEA SHEA 2
60,0002 %2024 A 1,200
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2A:
X{XH -
o /e

cH):

2T
2BAIE B 22
AL BHE Y 22

A - BE - BRI(E) - KIRA - BAS ofl e Gl imE=T
OZIHAEHL R RIMIE Aot 2te]
130,000 128 1,560
OSIHAEHLRIRHE AYAE RS |ISH
B Tr= 500,000 *13] 500
02 222 28,440 20,640 7.800
OMx 25UH HMI |2 L 252
140,000 % 12 1,680
OME2MEZAZY M2 L =523
130,000 128 1,560
OZIHAERE JIR2E 2 XIske ®IIR3
400,000 %122 4,800
OZOHADIRIUIIE &2
300,000 * 12 3,600
OZIHAEELR N 28 M3
400,000+ 128 4,800
OLAEE &I
1,000,00024* 122 12,000
401 Al&H| 2 S| 870,000 750,000 120,000
01 Al&H] 870,000 750,000 120,000
OMERHEADY AL SEAIS
350,000,000 350,000
OZHADIZINIIE AlEE =HIAFY
300,000,000 300,000
OZFARY FAXYH XA
20,000,000 20,000
OMECISHMLZ HOIAL SSIA
200,000,000 200,000
ZARRX| A5 832,137 337,536 494,601
101 o124 76,407 87,926 A11,519
M IIHR22IEES 76,407 87,926 A11,519
O®XAEHAMAIR 22] 33,654
0123 69,0202* 1213002 20,706
0S35L+H(FE, 25Y)
69,02024101%652 4,487
0¥ =Z2+g 69,0202 121x 102 *150% 1,036
05e=2++g 69,0202 1Q1x92*150% 932
0 Xt~ 69,020R%101x112! 760
08220 27,921,000/ 128 2,327
0=01013 30,248,000 %4 . 5% 1,362
0HSEE 30, 248,00024+3.545% 1,073
0L QIAD|RYUEE 1,073,0002%12.81% 138
nE=k 30,248,000 *1.75% 530
M MEE 30,248,000 %1% 303
OFARZR| SFFY| L F=xize 8,428
0oz 78,8802 *201x402 6,311
=54 78,880 %201x82! 1,263
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SN 2SS
HIM: DZAA 2K 22
CHel: ZIYAIE &5 2 2] (crol: xi21)
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
0=21%= 7,573,0002 %4 . 5% 341
0HZEE 7,573,0002%3.545% 269
0= RSEE 269,00021%12.81% 35
01E=ZSH 7.,573,00024%1.75% 133
O ES 7,573,000 1% 76
OFA2T| e 34,325
0122 78,8802 101x249 19,642
0238L+H(FE, 25Y)
78,8802%101x652 5,128
0¥ =Z=+E 78,8802 *101x24 2 +150% 2,840
0 Xt 78,8802+101x112 868
0EIX S0 28,478,000/ 12& 2,374
0=01013 30,852,000 %4 . 5% 1,389
0HLEE 30,852,00024%3. 545% 1,094
0L QIR )| QoS 1,004,0002/%12.81% 141
01E=E 30,852,000 %1.75% 540
0&HHEE 30,852,000 * 1% 309
201 L2 A 32,730 29,610 3,120
01 AFR22IHI 8,130 8,130 0
OB AEHMAIZ 22| 29|
100, 00024+ 1H A 122 1,200
OWX|AEHAIR ROIHH| 242
190, 00024+ 1 A 122 2,280
O EAE 31EX 7Y
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